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Instructions for the candidates :

Candidates must enter his /
her Question Booklet Serial
No. (10 Digits) in the OMR
Answer Sheet.

Candidates are required to give
their answers in their own words
as far as practicable.

Figures in the right hand margin

indicate full marks.

15 minutes of extra time have
been allotted for the candidates (o

read the que-stinn:s carefully.
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[ 254
This guestion booklet is divided
into two sections — Section-A
and Section-B.
In Section-A there are

B0 objective type guestions out

re

of which 40 guestions

compulsory. If the candidate
answers more than 40 guestions,
the first 40 answers only will be
evaluated. Each guestion carries
1 wmark. For answering these
darken the correct circle given on
the OMR answer sheet with black
/ blue ball pen. Do not wuse

whitener / Hguid material /

blade / nail ete. on the OMR
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7. Gug-§

W@ﬁsﬁﬁﬁf%@mﬁa
gv &1 Hedd WA & feg 2 ow
freifRa €1

g d 6 ©y ITF H¥A
(Q.Nos.l#ﬁ)%ﬁ#ﬁ#ﬁﬁ?
3 uvHt & Inv a4 e/

AT AT 4T TR A9
(O. Nos. 9 @ 12 & Fmd &
frt 2wyt & 39¢ 39 &1
sEfyme 4 4 oy I 5T
(o. Nos. 15 & 18 & frH @
for2t 2av= & @y a4 21
gy H 6 o
(Q. Nos. 21 & 26 & Ffa7 &

I HEA
fE==t 3 uv=t & Iwv a4 &
STGET UHT H 4 &y I ¥
(O. Nos. 29 & 32 & f7d @
fraT 2wl & ¢ 3+ &1

5 amfre Ramw & 7 In Sectiond

[ 211 |
there are Short

Answer Type  guestions of
5 subjects of Secial Science.
Each question carries 2 marks.

History has 6 Short Answer Type
guestions (Q. Nos. 1 to 6) out of
which any 3 gquestions are to be
answered.
Political Science has 4 Short

Answer Type questions (Q. Nos.

9 to 12) out of which any
2 guesiions are to be
answered.

Economics has 4 Short Answer
Type questions (Q. Nos. 15 to 18)
out of which any 2 gquestions
are to be answered.

Geography has 6 Short Answer
Type questions (Q. Nos. 21 to 26)
out of which any 3 guestions
are to be answered.

Disaster Management has

4 Short Answer Type guestions
(Q. Nos. 29 to 32) out of which
any 2 questions are to be

answered. :

[ 2133-qa1 ;sul._]
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8. frdt g & seiaeii susvr #=r S

g7 SfaRw & §F Iowla mva

(Q. Nos. 7, 8, 13, 14, 19, 20, 27,
28) 81 FEF ¥¥T & R 4 g

Freifer &1 shery, ol o,
SRR QF T A HeAe d Uh-

G H¥T FT 3T 49T &

T golaEr S &

[211]
Apart from these, there are 8 Long
Answer Type gquestions (Q. Nos.
7.8 13, 14, 19, 20, 27 28). Each
question carries 4 marks, One
Long Answer Type question edch
from History, Political Science,

Economics and Geography 1S to be

cansiered.

Use of any electronic appliances is

strictly prohibited.
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T|UE - A / SECTION - A

IS U¥T / Objective Type Questions

gy wEar 1 @ 80 A% F e wvw & wrr 9w fFweq feg g & e @

vw @et &1 o gRT g7 v wEt fawew & omR e uv g W1 Fae
40 "=l & g IWv § 1 40 x 1 =40

Question Nos. 1 to 80 have four options each, out of which only one is correct.

Mark your selected option on the OMR sheet. Answer any 40 questions.

40 x 1 = 40
1. e 5 o fFg gge™ 3 g8od | FgHa ) 8 6T 7

(a) Y IR (B) T | I

(C) U 9 wHEE (D) =T SE wHEE

Which one of the following communities constituted majority in

Brussels ?

{A) French speaking community
(B) Dutch speaking community
(C) German speaking community

(D) Danish speaking community

2133-~1/50) | Page 5 of 48




@

'Horizontal distribution (B)  Parallel distribution
| (C)  WVertical distribution ()  None of these

3. P d @ R R S v 2

(a) | e At (B)  TroEHTE

(€ THH (D) HETR

Who among the following is the head of a Municipal Corporation ?

ijﬁ.] Home Minister (B) Governor

i (C) Sarpanch - (D) Mayor

4. | P d @ w-wn v waedt gt S wnfver & o

(B) El'I'“'ff‘\,"




il 3 Fodo TR i e FHEA G 2
1992 ® 1995
o "'_-"-

‘When did the Nationalists and the UK government arrive at an

s A 1992 ; (B) 1995

"

(€) 1998 (D) 1999

6 et % frw T 3 ST W B SR T W IR I 2

(A T ERE @) TR T e
(@ e AR D) T RS
‘Which king of Nepal refused to accept democratic rule ?

King Birendra (B)  Girija Prasad Koirala



Which is the most popular form of government in the contemporary

world ?

(A Monerchy (B)  Military rule
1;63? Dictatorship (D)  Democracy
8. 7= # & frw 3w & us-gofta woredt # 2 :

(A) R (B) =i j
(©)  HIW I AR (D) ol j
Which of the following countries has a one-party systern 2 | .'i
(A)  India (B) China

i © usa ‘ | (D) * England

Pt # & i oy ol qer =€t & o




. (©) Samajwadi Party (SP)

[D] Bahujan Samaj Party (BSP)

;a:m@%wﬁﬁﬁwﬁﬂﬁwwﬁ%ﬁmw%

(A) TR | B
© () sEa

Which country has a democratic form of government since its

independence ?
(A)  Pakistan - (B) Bhutan

(C) Nepal (D) . India




F1E T

‘gt et stigter e % fpw Tow ® 31w Tenar 1
@ fEr B) I R
(©)  =w e . (D) AfHerg

In which of the following states was the ‘Anti-Arrack Movement'

et

‘started ?
(A)  Bihar (B)  Uttar Pradesh
- €) Andhra Prédesh (D)  Tamil Nadu
13 Ree R Towin ao e R 2




(© A e D) Tor = sfuER

What does Article 40 of the constitution deal about ?

i (A) Right to Equality (B) Right to Life
(C) Local Self Government (D) Right to Education
:;; 15, =% ifew W G WY w97 % T ?
¥ (A) 1958 - (B) 1962
g
() 1973 (D) 1975

hen was the federation established in the West Indies ?




(4) India (B)  United States of America

({C) Switzerland (D) Australia
_11"‘5'-& TR it e g2 ? &
(A) 1789 . (B) 1804 1’.
; (8] 1871 (D) 1817 =)
¢

When did the French Revolution take place ?

(A) 1789 (B) 1804

1871 (D) 1817

Aot @ Hey Rl e d oar 2




() Zolverein

BT S ST e el fera ® 7

(B) ST 3
: (D) e BReA
!
I? ‘Where is the Jena University, the centre of the national movement
i :
A located ?

{-ﬁ-‘i ltaly (B] Germany
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l
22.
-
it
-

dr -

1867

1917
1en was the representative body Duma formed in Russia ?

1861 (B) 1867

(©) 1905 (D) 1917

fere €Y & wea w9 vuw fag gg 9§ S 8 T 2

i
(A) Hewe w7 Gy (B) wi=-Tocte=r =t dhr j
(c) =H™ = Gy (D)  Oftg =t @iy : ‘ 1
Under which treaty did Russia get out of the First World War ?

{A)  Treaty of Frankfurt (B)  Treaty of Brest-Litovsk -




(D)  Friedrich Engels

E: 24. foey 3 @ T CIZHSH WY HINOT 1 I A 7

S ST ST I[B} TR 1 SEEHT

3 @)

©) TomeAm @ e (D) ST S TR

Which of the following was the purpose of declaration of Potsdam 2

{A) Surrender of Japan (B) Surrender of America

(C) lndependmc;: of Vietnam (D) Unification of Germany




(D)

P

e, %m-vﬁt’fr%w%aaﬁamﬁr ?
{ﬁl- AT S (B) GdEATg 2T
(€) Tﬁmﬁ FT TEA (D) TiAA HEE
Who was the political guru of Mahatma Gandhi ?
(A)  Surendranath Banerjee (B) Satyendranath Tagore
(C) Gopal Krishna Gokhale (D) Motilal Nehru
27. ﬁﬁ-ﬂnmﬂ?ﬁﬁmaﬁﬂmaﬁwﬁﬁmﬁmw >

@y e B A [ B) WETT s st




=
| r;

(D Quit India Movement
() A e B) @ FEE TFERR @
]-: (c E. TeETERt (D) TSR Seer WI§ 9IS
~ Who formed the organization called ‘Lal Kurti’ ?
(A)  Mazzini (8) Khan Abdul Ghaffar Khan

- 1 iﬂ"! C. Rajagopalachan (D) Sardar Vallabh Bhai Patel




Wheo was the Chairman of ‘Indian Statutory Commission’ ?
[A] General Dyer (B) Williarm Hunter
(C) Robert Owen (D) John Simon

31. TS 8L | A GieAl T ?
(A) 1828 (B) 1869

© 1914 (D) 1924

In which year was Suez Canal opened ?




Where was the first cotton textile industry established in India ?
(A)  Mumbai (B) Chennai

(C) Kolkata - (D)  Ahmedabad

a3, -1921ﬁwﬁ§mnﬁ.ﬁmaﬁw% s T & 2
(o) eTEH EHGEN B) . TH. HH
(©)  FHEIIES ZTET D) ST fagern

Who was the Chairman of the Revenue Commission set up by the

government in 1921 ?

L

() Ibrahim Rahimtoola (B) J.M. Keynes

(D)  Ghanshyam Das Birla




hen was the first industrial policy announced in India ?

(B) 1956

(© 1990 (D)  None of these
35. 1929 i AT Her w1 Fa9 G T HE 99 9 9T 7
8 f= Fed @ emf

(C) WA (D) W

-

‘Which country suffered the most during the Great Depression of

1929 7

{A::l Great Britain {E,] America

(€) India (D)  France

(B)

(D)




AL s&}’ Iﬁsm .ijan Development Bank

- (D) Federal Bank

- . @ﬁmaﬁﬁwa&ﬁm-ﬂ% ?

i
4

(A) BiR B WS

; (c) T ' ) T

What is the currency of European economic union ?
(A) Dollar (B) Pound
(C} Rouble (D)  Euro




—

30, formmr HiEw w1 g i w4 ?

(B) el T g FA
(©) TTEE w1 gty wE
(D) T | HIE

What was the main objective of Vienna Congress ?
(A) Restore republics (B) Restore democracies

| O {_Ci} l Restore monarchies (D) None of these

&

40.  Tasmmex et @ Frardt o ?
e @ @

A




B)  FA g8 HiHe
(©) HEEA SEn (D) S SE

Which commission/committee introduced the concept of sustainable

development ?

(A) Brundtland commission (B] Bretton Woods committee

(C) Simon commission (D)  Geneva commission

ﬁqﬂmaﬁaﬁ@aﬁﬂ% ?

) T B) ®TR




(A)  August, 1980 (B)  July, 1985

©) -Sﬂptember, 1987 (D)  October, 1990
44. o9 wEE USE U 8 ET § 2

(A) STIETS (B) LSRG

(€ A (D) ST WRW

Where is Jim Corbett National Park located ?

{A)  Uttarakhand By Oioares

il Betala (D)  Uttar Pradesh

L 45 v e ot o Hee R w2




Quinine is used for

(A)  Malaria (B)

| (C) Pain relief (D)

47. G H oy wEwtTs & % de af e & w0 K W E ?

(A) 16 (B)

©c) 20 (D)

Cancer

T.B.

18

23




i bl B

{(C)
‘Where was India’s first hydroelectric power plant'ﬂsfﬂbﬁﬂhﬂi ?
(A) Shivasamudram :ﬁ} Dehradun
(C) Shimla (D)  Darjecling
40, FmMumm @ EHT T A RE e ?
(a) afierrg B) FAREH
© I (D) TSI
In which state is the Kaiga Atomic Power Station located ?
(A) Tamil Nadu (B) Karnataka
(C)  Uttar Pradesh (D) Rajasthan

so, W % f e W I 5 R w9 i wr & 2
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_' o @ I QUUT B T I ¥ 2

a S B ==
(cy (o) TH E gl

Which of the following is an example of a plantation crop ?

-

(A) Rubber (B) Tea

(C) Sugarcane (D) All of these

52, B # @ ¥ cowdt wEe agHedE g w1 R = @l
FTAT R ?

Ay = , B) HX
© HqT (D) T

. Which of the following pulse crops does not fix the atmospheric
..j-t- e ? -

—
- :E‘p
ol L




Who creates .hﬁﬂ'er stock in India ?
(A)  Food Corporation of India
(Bl Food and Agriculture D@haﬁm
(C) United Nations Organisation |

(D) None of these

54. qRATT FEr 3T T HEE ((ISCO) el g fShar a2

(A)  WETET (B) - YR
—
(€) HeH (D)  wEAR

Where was the Indian Iron and Steel Plant established ?

(A)  Bhadrawati 1| Ducessis




“

{A)  Secunderabad (B) Mumbai

I-_Cb Chennai (D)  Gorakhpur

|1 T SR SRS 1 slesar | Sredr 2

Ay T ?IF‘EIIT"f -1 (B) U SeTHPT €EAT-2
(© U= SEEr E-3 (D) S ST TE-4

Which National Waterway connects Allahabad to Haldia ?

(A) National Waterway No. 1 (B} National Waterway No. 2

(C) National Waterway No. 3 (D) National Waterway No. 4




mfﬁ T-rr'ﬁ"ﬂ forere = forw e A srafega & ?

@ ﬂmﬁ‘:ﬁ (B) HﬁT

© (D) Wt

In which district is Kahalgaon Thermal Power Station located ?
(A} Bhagalpur (B] Munger

(C) Jamui (D) Kantd

i 7 @ = wpfass SR w2

"

(A)  TAT (B) g

(€  #EEA Bl RS
-~
Which of the following is not a nﬂt'l.ll'_ﬂl disaster P




 (A)  Krishna (B) Narmada

(C) Kaveri (D) Rihand

e = et e R I Ak E 2

(A) F= B) A=

(€ 3 IIRE FR (D) T W I T
From where do earthquake waves originate ?

(A)  Focus (B) Epicentre

{C) Solid inner core (D) None of these




WIS Barometer:

» T R LY
e e oF

' (©)  Anemometer (D)

(A) T & wE o

I ©) TR eETEEFRO (D) HEF % (EEE W :
| Agriculture drought happens
(A)  in the absence of water  (B)  due to soil erosion
(C) due to soil salinity (D)  due to rock slide
64. =1 & § wmi-wr & gy a1 gt ¥ s gwifas dar ¥ 2
(a) dferd ged & &= (B) = YIHIT SR = &
(€)  wErETEE T (D) T e

Which of the following arecas is more affected by earth

(A)  Fold mountain areas (B)  Crust rift zones



{A)  Nokia (B) Samsung

y : ‘ﬁi’-'i Inﬁ}m (D)  Ford Motors

- weet fasett Frder o1 eifus e e s e ® 2
- iﬁl EﬂT &= (B) S IUE | |

g

© FaEs D)  fafmir &=

.- ‘Which sector has got the maximum benefit of foreign direct

L

investment ?

(A)  Agriculture sector (B) Industrial sector

(D) Manufacturing sector




F]

A nduniey
68, s Yan frufeor &g wH aﬁ#mgﬁrmﬁamw
et Frwifea =t TE R 2

il

(A) 2100 FERI (B) 2200 ‘_ )
i

ol (C) 2400 HATT D) 2600 ¥ t';

What are ﬂlemmmumcalunnamquh'edperpemunperdg};m

. ]

2100 calories (B) 2200 calories




(A) Sugar industry (B) Leather industry
(C) Cement industry (D) - Textile industry

70. ‘diadt urs a-fafewr we = ve T RS (SR (ol 2

qa) O, mEETETEE ® TS AR
(), shto Tt (D)  Wro =i

Who wrote the book ‘Poverty and Un-British Rule in India’?
© (A) P. C. Mahalanobis (B) Dadabhai Naoroji

(C) Prof. Marshall (D)  Prof. Keynes

e 2 fo Pty 3, sy i sif g ¥ e W A =




73.

Iz’
F

(D)
it apdior S it e e w2

(A) 1975 (B) 1980

(€) 1969 (D) 1982

When was the Regional Rural Bank established ?

(A) 1975 (B] 1980

(<) 1969 (D) 1982

fe=1 & == wrer e w9 9 sl § o g o

A T S - (B)  =e] S

()  HwE ST (D) SEt Sy
Which of the following accounts is exclusively for traders ?

(B) Current Depaosit




MNREGA program was started from which state ?

(A)  Rajasthan : (B) Uttar Pradesh

Q) Bihar ‘ (D) Andhra Pradesh

75, el SRl H e ghfea w3 & fo e wee fae s s
fepn e & 2
(A) TTEER B Hiicg

(©) ISl HE (D) FE § i T

Which standard mark is used to ensure the quality of industrial

I p:‘ﬂd‘l.lﬂtﬂ?




5:* the Hnﬁmal Consumer Day rated <

i (A)  15th March ' (B) 24th December
(C)  Sth June (D) 8th March
ﬁﬂﬁ.ﬂﬂiﬁﬂﬂ{EM}ﬁ%ﬁﬂﬁ#ﬁmﬁﬁﬁWW% ?
a) faem i e ®) e daga e
) fage snfas &= o) o e a3
Export Promotion Zone has been replaced by which of the following ?
(A) Special Industrial Zone  (B) Special mmﬂﬁun Feitre :

(C}  Special Economic Zone (D)  Special [Ziev:;lnpmcnt one .

=t @ @ A0ernd iy fm F o sl ¥ o

@ ot A ® e R

=) 1 717 .
r ool -_-|_- %1 S6C
" y s ) ks
L =y s - L
= il . - .
- . -
’ - .




(C) . Both (A) and (B) (D)  Structural unemployment

70.  WEEE e w3 famgieor ) e = @ 2

80.

(A) 8 €Y, 2016 - (B) 16 7EsX, 2016

(©) 2579w, 2015 (D) 8TESL, 2018

. When did Prime Minister Narendra Modi announce demonetization ?

(A)  8th November, 2016 (B)  16th November, 2016
(©)  25th November, 2015 (D)  8th November, 2018
s Hifs ST w1 P e W § 2

(a) Tow HEeE (B) U WIHN

© e ford o (D) T s

i
Y

Who decides the monetary policy in India ?
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mm Jﬁiﬂﬁﬂgmflﬁ##w 3 gyl & Iav 31 W
vy & Prg 2 sie PraiRa #1 | 3x2=¢

ety

Question Nos. 1 to 6 are Short Answer Type. Answer any 3 guestions. Each

"

question carries 2 marks. Ix2=6

III
e

i

i A F 390 H ud guR ATSEE S w1 s 62
What was the role of the religious reform movement in the rise

nationalism 7

= .l-.il._:_-ln.-.ﬂ.-' .':i.'.gj';a- =
# *

2 mmﬁm%wmaﬁqﬁmﬁ&?

LI
=

What were the major industries of India in the.18th century ?

3. sfaes dehe | ST w1 gEerd € 2
e
What do you understand by economic crisis 7
4.  aicuifam wifa & S Achieh ST sareT |
Give two immediate causes of the Bolshevik Revolution.




"':I.

What s the meaning of Indo-China ?

6. srEEET SR w6 w2 2

Why was the non-cooperation movement suspended ?

| 29 949 U9 / Long Answer Type Questions

 gvr wEmr 7 Al 8 A s #1 g @ et v @ gEe gedE UvT F
oo 4 s frraffea 21 I1x4=4

Question Nos. 7 and 8 are Leng Answer Type. Answer any one of them. Each

question carries 4 marks. Ixd4=4

fﬂﬂﬁﬁmﬁﬁﬁﬁamﬁaﬁaﬂ’rﬁl 4

Discuss the causes of civil disobedience movement.

aﬁaﬂﬁ?ﬂﬂw#ﬁmmwﬁﬂ?mﬂmmﬁm 7

i  did commercial capitalism contribute to the emergence of




. Rl

aﬂﬁam;mmwwm'

. -q-,

"I

m.ﬂﬁ‘ mmﬂgaﬂﬁ#hﬁ#w ﬂﬂﬁfﬂ'm;{‘;

: m*f&t’z# Frerifier &1 2x2=

—

Question Nos. 9 to 12 are Short Answer Type. Answer any 2 questions. Each

question carries 2 marks.
o, i § ToEtTE <o ) @ STETgHar & ?

What is the need of political parties in a democracy ?

L
R
P

}/ TIAT & AMFR AT & = S8y = S 2

e

What were the main ohbjectives of the Right to Information

,_
L
=L

Movement ?

11. e 390y = ¥ %5
E&plain economic offence.,

12. _ WA % Featex faewor 5t wamww )

oF: | diﬁtﬁﬁl.ltinn ﬂfpmr_




i

ir:ﬁ#ﬁ#wwmfr mﬁm’
‘*M4wmﬂhﬁ

s uestion Nos. 13 and 14 are Long Answer Type. Answer any one e
' Each question carries 4 marks.

g i
13. mﬂﬁﬁmﬁqﬁﬁﬁﬂwaﬂmﬁ«wmﬂﬁfm{m% ?
famr 4@ sy 4

What provisions have been made in the Constitution of _Ind:ia for the

establishment of a secular society ? Explain in detail.

1;./ rmﬁ%ﬁﬁ?m&'ﬂﬂ:ﬁmﬁ%ﬂnﬂ%ﬁmﬁ% 7

4

How do p-nl_iﬁcai parties contribute to the development of the

country ?

YA / Economics

#g FAE WA / Short Answer Type Questions

gyT WET 150 miﬁrﬁgaﬂﬁw#:ﬁﬁ#wzwﬁ*m#: o

gv % w2 dF Fraifia 21 QD =d

Question Nos. 15.to 18 are Short Answer Type. Answer any 2 questions. Each
.stion carrie s 2 marks. 2x2=4

15. _nﬁa"r@ﬁgﬁﬁaﬁmmaﬂmi 5

State the concept of vicious circle of poverty.

Jn###."



" What benefi tsdidmnsu mers get from the emergence of money ?

e IwT Wy / Long Answer Type Questions

L . )
WP HET 19 Ud 20379 IwviT &1 396 @ fHHl g &7 IOV § 1 Hedw 0T

| . b
& ferg 4 s7% Fregifea &1 Ix4=4

Question Nos. 19 and 20 are Long Answer Type. Answer any one of them. .

Each question carries 4 marks. Ixé-# l

SHET & Al R | "arsy

L

1
19, |
: 3]

Explain the functions of money in detail.




T W PR pomp—— L
7 & R 2 3w FraiRe &1

o

wm 51 to 26 are Short Answer Type. Answer any 3 questions. Each
question carries 2 marks. 3x2=6

21, T R @l wEA H R W 2
=

Differentiate between Rabi and Kharif crops.

0o Eur % fETg § TS WEE w1 Tew & 2 2
What is the importance of human resource in the development of a
country ?

3. IS WEIEE T T SR A 2 2

What was the major objective of Kyoto conference ?




_FR i i
R TR i i P a
gt et et & 7 v g A W vt ood A E 2

ere is laterite soil found ? Which crops are grown in this soil 2.

oYY §%9T 27 a8 28 19 Fudiag #1 g6 @ fEEt ow FT IOV E m
*M## m#f Ixq=

Question Nos. 27 and 28 are Long Answer Type. Answer any one of them
Each question carries 4 marks. 1x4 ==
27. S Wz W & 2 e Gl & W w5 frem ¥ ferw o wm
ey |
What is energy crisis ? State the major efforts taken in the di

of conservation of power resources, .

mw*mﬁmmmmwwm

What is the importance of means of transport and o

.
= )
y 3




1. _'_ I: LA L e '-::-_ e e ALE S e R o sherhn_tog > k. J_‘-',
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Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions. Bach

mmmimﬁs I x2 =4

20, ST WEYA FHI HEEIF € ? 2

-

Why is disaster management necessary ?

30, ‘fem w1 v TR o ol el AT ¥ 2 2
B Which is called the ‘Sorrow of Bihar’ and why ?

31,' @qﬂaﬂﬁﬁ;ﬁ-ﬂmﬁﬂhﬁwmﬁmﬁmﬁq? 2

What precautions should be taken in building construction for

P ———

protection against earthquake ?

32. e GaR @ F1 A 2 2




